Geometry H Name:

Section 4.3 Homework Date: Period :

Decide whether the congruence statement is true. Explain your reasoning.

1. APOR = ARTS 2. AABD = ACDB 3. ALMN = AUVW

Q T A H 8

Use the distance formula and the given coordinates to determine if AABC = ADEF.

Ay
4. A1, 2), B(4, -3), C(2, 5), D(4, 7), E(7, 2), F(5, 10)
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5. A(1, 1), B(4, 0), C(7, 5), D(4, -5), E(6, -6), F(9, -1) Ay
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Determine whether AABC = ADEF. Explain your reasoning.
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8. Complete the proof.
GIVEN: HI = JK,
U=KH K
PROVE: AHIJ = AJKH H
Statements Reasons
1. 7 1. Given
2. 7 2. Given
3. 2 3. Reflexive Property of Congruence
4. _? 4. SSS Congruence Postulate

9. Complete the proof. X
GIVEN: WX = YX, o
Z is the midpoint of WY.
PROVE: AWXZ = AYXZ w z y
Statements Reasons
| 1. Given
2. 7 2. Given
3. 7 3. Definition of Midpoint
4. 7 4. Reflexive Property of Congruence
5.7 5

. SSS Congruence Postulate



10. Find all values of x that make the triangles congruent. Explain.

Bx—7
2x+ 3
Ix—12
—x+ 14
ANSWER KEY:

1) Yes, by SSS
Yes, by SSS
Yes, by SSS

Congruent by SSS

Yes, SSS

)
)
)
5) Not congruent, corresponding sides are not congruent
)
) No, corresponding sides are not congruent.

)

8) Hl = JK: IJ = KH; HJ = HJ; AHIJ = AJKH
9) WX =YX Zis midpoint of WY, WZ = YZ; XZ = XZ; AWXZ = AYXZ
10)x = 3; Sefting 2x + 3 = 7x — 12 and —x + 14 = 6x — 7 yields x = 3 in both equations.



